2-Column Proofs
Proving Lines Parallel

Complete the two-column proof of the Alternate . Complete the following two-column proof.

Exterior Angles Theorem. Given: £1 = /2, /3= /1
Given: £ || m 1 5 Prove: XY | WV
Prove: £1 = /2 3 Proof:
Proof:
Statements Reasons
Statements Reasons m
- 1. 41=42, 3= 1. Given
1. 40m 1. Given 2. 22=23 2.a_ 2
2.a_ 2 2. Vert. & Thm. 3. b 2 3¢ 2
3. L3=242 3. b. ?
4.c 2 4.d. 2
Complete the following two-column proof. D

Given: AB || CD, £1 = £2, /3= /4
Prove: BC || DE

Complete the two-column proof.
Given: ZABC = ZCBE, DE | AF

Quuu—
Proof: Prove: CB || DE
Proof:
Statements Reasons

1. AB|| CD 1. Given S—— - ns
2. /1=/3 2.a. 2 1. ZABC = LCBE 1. Given

3. /1 =22,/3=24 3.b._ 2 2. CB L AF 2.a. 2

4. L2=/4 4. c. ? 3. b. ? 3. Given

5.d. 2 5.e. 2 4. C8 | DF 4.c_ 2

Complete the two-column proof below.

Given: AB | BC, mZ1 + m£2 = 180° A D
Prove: BC 1 CD 8 2|¢c
Proof: ! !
Statements Reasons
1. AB | BC 1. Given
2. m41 + m42 = 180° 2. a. ?
3. £1 and £2 are supplementary. 3. Def. of supplementary
4.b. ? 4. Converse of the Same-Side Interior
Angles Theorem
5. BC L CD 5.¢. 2




